
Aire et Volume d’un Cône (B)
Calculez l’aire et le volume de chaque cône.

Aire = πr(r +
√
h2 + r2) Volume = πr2

h

3

r = 62,1 hm

h = 144,9 hm

•

1.

r = 56,40 yd

h = 81,60 yd

•

2.

r = 70,0 ft

h = 86,0 ft

•

3.

r = 27,6 nm

h = 85,1 nm

•

4.
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Aire et Volume d’un Cône (B) Réponses
Calculez l’aire et le volume de chaque cône.

Aire = πr(r +
√
h2 + r2) Volume = πr2

h

3

r = 62,1 hm

h = 144,9 hm

•

1.

Aire: 42.871,0 hm2

Volume: 585.167,5 hm3

r = 56,40 yd

h = 81,60 yd

•

2.

Aire: 27.569,11 yd2

Volume: 271.817,23 yd3

r = 70,0 ft

h = 86,0 ft

•

3.

Aire: 39.779,2 ft2

Volume: 441.289,0 ft3

r = 27,6 nm

h = 85,1 nm

•

4.

Aire: 10.150,4 nm2

Volume: 67.885,4 nm3
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